Facit- og pointfordeling færdighedsprøve dec. 2015.
	
	AEU   Modul 2
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	378 + 624
	=  1002
	1

	2.
	1483 - 547
	=  936
	1

	3.
	3 · 264
	=  792
	1

	4.
	468 : 6
	=  78
	1

	5.
	Afrunding
	=  46
	1

	6.
	Afrunding
	=  13
	1

	7.
	0,2 · 125
	=  25 kr.
	1

	8.
	(96/480) · 100
	=  20 %
	1

	9.
	8,614 · 1000
	=  8614 g.
	1

	10.
	13 / 10
	=  1,3 l.
	1

	11.
	1 · 10000
	=  10000 cm2
	1

	12.
	(4a + 11a) – 7b
	=  15a – 7b
	1

	13.
	6 – (3 · 8)
	=  - 18
	1

	14.
	x = 56 / 7
	=  x=8
	1

	15.
	x = (16 + 8) / 4
	=  x=6
	1

	16.
	10000 - 7000
	=  3000
	1

	17.
	Markeret på svarark
	=  32
	1

	18.
	[image: image1.emf]
	=  [image: image2.emf]
	1

	19.
	[image: image3.emf]  => [image: image4.emf]
	=   
[image: image5.wmf]12

4

 = 
[image: image6.wmf]3

1


	1

	20.
	[image: image7.emf]
	=  
[image: image8.wmf]5

4

  = 0,8
	1

	21.
	(150 / 5) · 2
	=  60
	1

	22.
	60 · 1,5
	=  90 sek.
	1

	23.
	60 / 3
	=  20 min.
	1

	24.
	60 / 24
	=  2,5 døgn
	1

	25.
	2 · 3,14 · 5
	=  31,4 cm2
	1

	26.
	Afmærket på svarark
	=  diameter
	1

	27.
	Afmærket på svarark
	=  diagonaler
	1

	28.
	l · h · 2 = 80
	=  Eks. på l og h
	1

	29.
	80 · 0,9
	=  72 g.
	1

	30.
	Figurens navn
	=  Prisme
	1

	31.
	14 · 8
	=  112 cm3
	1

	32.
	[image: image10.emf]       
	=  10 cm
	1

	33.
	Aflæst på figur
	=  (1,3)
	1

	34.
	Markeret på svarark 
	=  B (4,7)
	1

	35.
	Markeret på svarark
	=  (4,3) = (1,7)
	1

	36.
	Jan:-19, Feb:-21, Mar:-17, Apr:-8,5
	=  Februar
	1

	37.
	(4 + 3 + 2 + 7) / 4
	=  4 mm
	1

	38.
	Jan:-6, Feb:-6, Mar:-8, Apr:-7
	=  Marts
	1

	39.
	25 · 2
	=  50 kr.
	1

	40.
	[image: image11.emf]
	=  [image: image12.emf] = [image: image13.emf] = [image: image14.emf]
	1
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